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@ Features

1) Ic=3A, Low VGE (say) digtal tran-
sistor with built-in resistors.

2) Durable to reverse surge between
collector and emitter thanks to
built-in damper diode. Suitable for
motor drive.
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©® ¥3B A EH,/Absolute Maximum Ratings (Ta=25°C)

Parameter Symbol Limits Unit
BERE Vce 30 '
ADBE ViN 7~ —6 v
L7 SR 10 (mex 3 A
icp 5 A
BR (aL74a) Bk Py 2 w*?
BAREE Tj 150 C
RFREREE Tstg —55~150 c
*1 40X40X0.7mm 5 3 v 7 BIREAO
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® B K444/ Electrical Characteristics (Ta=25°C)
Parameter Symbol Min. Typ. Max. Unit Conditions
Vi (off) — - 03 v Voe=5V, lo=100uA
ANEBE
Vi (on) 25 - - Vv Vo=0.3V, {p=0.5A
HOBRE Vo (on) - 0.1 03 v lo=1A, |=50mA
AHOEFR Iy - - 110 mA | V=5V
HHER 1o (off) - - 10 MA | Vgc=25V, V|I=0V
=5 o k. L B G 68 — - - Vo=2V, 1p=0.5A
ADgHR Ry 70 100 130 Q
I3yg - ~N—XEER R2 - 1 - kQ
FligsigeaiR r* - 80 - MHz | Vge=5V,lg=—0.1A,f=30MHz
* WMEFTTA2OBUETY,
o WS - AWAES WK (O : mimgs)
AR F-vLT
£k T100 | T101
Type EARRTHN (f8) 1000 | 1000
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